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1. The equation of perpendicular bisectors of sides 𝐴𝐵  and 𝐴𝐶 of a ∆ 𝐴𝐵𝐶 are 𝑥 ― 𝑦 + 5 = 0 and 𝑥 + 2𝑦 = 0 respectively. If the coordinates of vertex 𝐴 are  (1, ― 2), then equation of 𝐵𝐶 is

a) 14𝑥 + 23𝑦 ― 40 = 0 b)14𝑥 ― 23𝑦 + 40 = 0 c) 23𝑥 + 14𝑦 ― 40 = 0 d)23𝑥 ― 14𝑦 + 40 = 0

2. If the line 𝑝𝑥 ― 𝑞𝑦 = 𝑟 intersects the coordinate axes at (𝑎, 0) and (0, 𝑏), thyen the value of 𝑎 + 𝑏 is equal to 

a) 𝑟(𝑞 + 𝑝𝑝𝑞 ) b)𝑟(𝑞 ― 𝑝𝑝𝑞 ) c) 𝑟(𝑝 ― 𝑞𝑝𝑞 ) d)𝑟(𝑝 + 𝑞𝑝 ― 𝑞)
3. The distance between the parallel lines 𝑦 = 2 𝑥 + 4 and 6𝑥 = 3𝑦 + 5 is

a) 17/ 3 b)1 c) 3/ 5 d)17 5/15

4. The value of ′𝑎′ for which the lines represented by 𝑎𝑥2 +5 𝑥𝑦 + 2 𝑦2 = 0 are mutually 

perpendicular is

a) 2 b) ―2 c)
25

8
d)None of these

5. The vertices of ∆𝑂𝐵𝐶 are (0, 0), ( ― 3, ― 1) and ( ― 1, ― 3), then the equation of the line 

parallel to 𝐵𝐶 which is a distance 
1

2
 from the origin and cut 𝑂𝐵 and 𝑂𝐶 intercept, is

a) 2𝑥 ― 2𝑦 + 2 = 0 b)2𝑥 + 2𝑦 + 2 = 0 c) 2𝑥 + 2𝑦 ― 2 = 0 d)𝑥 + 𝑦 2 = 0

6. Two consecutive sides of a parallelogram are 4𝑥 + 5𝑦 = 0 and 7𝑥 + 2𝑦 = 0. One diagonal of the 

parallelogram is 11𝑥 + 7𝑦 = 9. If the other diagonal is 𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0, then 

a)𝑎 = ―1, 𝑏 = ―1, 𝑐 = 2 b)𝑎 = 1, 𝑏 = ―1, 𝑐 = 0

c) 𝑎 = ―1, 𝑏 = ―1, 𝑐 = 0 d)𝑎 = 1, 𝑏 = 1, 𝑐 = 0

7. The equations of the lines through (1, 1) and making angle of 45° with the line 𝑥 + 𝑦 = 0 are

a) 𝑥 ― 1 = 0, 𝑥 ― 𝑦 = 0 b)𝑥 ― 𝑦 = 0, 𝑦 ― 1 = 0

c) 𝑥 + 𝑦 ― 2 = 0, 𝑦 ― 1 = 0 d)𝑥 ― 1 = 0, 𝑦 ― 1 = 0

8. The equation of the straight line perpendicular to 5𝑥 ― 2𝑦 = 7 and passing through the point of 

intersection of the lines 2𝑥 + 3𝑦 = 1 and 3𝑥 + 4𝑦 = 6, is

a) 2𝑥 + 5𝑦 + 17 = 0 b)2𝑥 + 5𝑦 ― 17 = 0 c) 2𝑥 ― 5𝑦 + 17 = 0 d)2𝑥 ― 5𝑦 = 17

9. The orthocentre of the triangle whose vertices are (5, ― 2),( ― 1,2) and (1,4), is

a) (1/5,14/5) b)(14/5,1/5) c) (1/5,1/5) d)(14/5,14/5)

10. The equation(s) of the bisector(s) of that angle between the lines 𝑥 + 2 𝑦 ― 1 = 0, 3 𝑥 ― 6 𝑦 ― 5 = 0 which contains the point (1, ― 3) is

a) 3𝑥 = 19 b)3𝑦 = 7 c) 3𝑥 = 19 and 3𝑦 = 7 d)None of these

11. Three straight lines 2𝑥 + 11𝑦 ― 5 = 0, 24𝑥 + 7𝑦 ― 20 = 0 and 4𝑥 ― 3𝑦 ― 2 = 0

a) From a triangle b)Are only concurrent 

c) Are concurrent with one line bisecting the angle between the other two d) None 

of the above
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12. Let 𝑎 and 𝑏 be non-zero and real numbers. Then, the equation (𝑎𝑥2 + 𝑏𝑦2 + 𝑐)(𝑥2 ― 5𝑥𝑦 + 6𝑦2)

= 0 represents

a) Four straight lines, when 𝑐 = 0 and 𝑎,𝑏 are of the same sign b) Two straight lines and 

a circle, when 𝑎 = 𝑏 and 𝑐 is of sign opposite  to that of 𝑎
c) Two straight lines and hyperbola, when 𝑎 and 𝑏 are of the same sign and 𝑐 is of sign opposite 

to that of 𝑎 d)A circle and an ellipse , when 𝑎 and 𝑏 are of 

the same sign and 𝑐 is of sign opposite to that of 𝑎
13. A line passes through the point of intersection of the lines 100𝑥 + 50𝑦 ― 1 = 0 and 75𝑥 + 25𝑦 + 3 = 0 and makes equal intercept on the axes. Its equation is

a) 25𝑥 + 25𝑦 ― 1 = 0 b)5𝑥 ― 5𝑦 + 3 = 0 c) 25𝑥 + 25𝑦 ― 4 = 0 d)25𝑥 ― 25𝑦 + 6 = 0

14. If the line segment joining (2,3) and ( ― 1,2) is divided internally in the ratio 3 :4 by the line 𝑥 + 2𝑦 = 𝜆, then 𝜆 =

a)
41

7
b)

5

7
c)

36

7
d)

31

7

15. The angle between the lines 3𝑥 ― 𝑦 ― 2 = 0 and 𝑥 ― 3𝑦 + 1 = 0 is

a) 90° b)60° c) 45° d)30°

16. A diagonal of the rectangle formed by the lines 𝑥2 ―7 𝑥 + 6 = 0 and 𝑦2 ―14 𝑦 + 40 = 0 is

a) 5 𝑥 + 6 𝑦 = 0 b)5 𝑥 ― 6 𝑦 = 0 c) 6 𝑥 ― 5 𝑦 + 14 = 0 d)6 𝑥 ― 5 𝑦 ― 14 = 0

17. If a line with 𝑦-intercept 2, is perpendicular to the line 3𝑥 ― 2𝑦 = 6, then its 𝑥- intercept  is

a) 1 b)2 c) ―4 d)3

18. The distance between the pair of parallel lines given by 𝑥2 ―1005𝑥 + 2006 = 0 is

a) 1001 b)1000 c) 1005 d)2006

19. The pair of lines 3 𝑥2 ―4𝑥𝑦 + 3 𝑦2 = 0 are rotated about the origin by 𝜋/6 in anticlockwise 

sense. The equation of the pair in the new position is

a) 3 𝑥2 ―𝑥𝑦 = 0 b)𝑥2 ― 3 𝑥𝑦 = 0 c) 𝑥𝑦 ― 3 𝑦2 = 0 d)None of these

20. The area of the parallelogram formed by the lines 3𝑥 ― 4𝑦 + 1 = 0, 3 𝑥 ― 4 𝑦 + 3 = 0,4 𝑥 ― 3 𝑦 ― 1 = 0 and 4 𝑥 ― 3 𝑦 ― 2 = 0, is

a)
1

6
 sq. units b)

2

7
 sq. units c)

3

8
 sq. units d)None of these
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